
436

2
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk ogk;j lsds.Mjh lfVZfQdsV ijh{kk ogk;j lsds.Mjh lfVZfQdsV ijh{kk ogk;j lsds.Mjh lfVZfQdsV ijh{kk o""""kZ 2008&09kZ 2008&09kZ 2008&09kZ 2008&09

ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

¼v½¼v½¼v½¼v½ iz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 6 rd vfr y?kqmRrjh; iz’u gSA izR;sd iz’u ij 2 vad

vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&30 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&30 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&30 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&30 ’kCn gS½

Instruction:

(i) Question Nos. 1 to 6 are very short ansswer type a questions. Each question

carries 02 marks. Maximum word limit of each answer 30 words.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& ty fudkl xq.kkad D;k gSa Aty fudkl xq.kkad D;k gSa Aty fudkl xq.kkad D;k gSa Aty fudkl xq.kkad D;k gSa A

What is Drainage Coefficient .

iz’u 2&iz’u 2&iz’u 2&iz’u 2& ikS/k laj{k.k dks ifjHkkf"kr dhft,AikS/k laj{k.k dks ifjHkkf"kr dhft,AikS/k laj{k.k dks ifjHkkf"kr dhft,AikS/k laj{k.k dks ifjHkkf"kr dhft,A

Define plant protection.

iz’u 3&iz’u 3&iz’u 3&iz’u 3& fefJr Qlyksa ds nks ykHk fyf[k,AfefJr Qlyksa ds nks ykHk fyf[k,AfefJr Qlyksa ds nks ykHk fyf[k,AfefJr Qlyksa ds nks ykHk fyf[k,A

Write two advantages of mixed cropping.

iz’u 4&iz’u 4&iz’u 4&iz’u 4& okuLifrd izlkj.k dh dksbZ nks ykHk fyf[k,AokuLifrd izlkj.k dh dksbZ nks ykHk fyf[k,AokuLifrd izlkj.k dh dksbZ nks ykHk fyf[k,AokuLifrd izlkj.k dh dksbZ nks ykHk fyf[k,A

Write any two advantages of vegetative propagation.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& /kku dk okuLifrd uke ,oa dqy fyf[k,A/kku dk okuLifrd uke ,oa dqy fyf[k,A/kku dk okuLifrd uke ,oa dqy fyf[k,A/kku dk okuLifrd uke ,oa dqy fyf[k,A

Write Botanical name and family of Paddy.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& vkeksa esa ,dkUrj.k Qyu D;k gSA fyf[k,Avkeksa esa ,dkUrj.k Qyu D;k gSA fyf[k,Avkeksa esa ,dkUrj.k Qyu D;k gSA fyf[k,Avkeksa esa ,dkUrj.k Qyu D;k gSA fyf[k,A

Write alternate bearing in Mangoes.

d{kk%& 12 ohad{kk%& 12 ohad{kk%& 12 ohad{kk%& 12 oha

fofofofo""""k;%& Qly mRiknu ,oa m|ku 'kkL=k;%& Qly mRiknu ,oa m|ku 'kkL=k;%& Qly mRiknu ,oa m|ku 'kkL=k;%& Qly mRiknu ,oa m|ku 'kkL=
le;%& 3 ?k.Vkle;%& 3 ?k.Vkle;%& 3 ?k.Vkle;%& 3 ?k.Vk
iw.kkZd%& 75iw.kkZd%& 75iw.kkZd%& 75iw.kkZd%& 75

Class:- 12th

Subject:- Crop Production & Horticulture
Time:- 3 Hours
Maximum Marks :-  75



437

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

¼c½¼c½¼c½¼c½ iz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vadiz’u Øekad 7 ls 12 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 3 vad

vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&50 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&50 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&50 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&50 ’kCn gS½

Instruction:

(ii) Questions Nos. 7 to 12 are short answer type questions. Each question

carries 3 marks. Maximum word limit of answer 50 words.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& flapkbZ ,oa ty fudkl esa dksbZ rhu varj fyf[k,AflapkbZ ,oa ty fudkl esa dksbZ rhu varj fyf[k,AflapkbZ ,oa ty fudkl esa dksbZ rhu varj fyf[k,AflapkbZ ,oa ty fudkl esa dksbZ rhu varj fyf[k,A

Write any three differences between irrigation and drainage.

iz’u 8&iz’u 8&iz’u 8&iz’u 8& QhYM cqd ¼{ks=&iqfLrdk½ dh D;k mi;ksfxrk gSA fyf[k,AQhYM cqd ¼{ks=&iqfLrdk½ dh D;k mi;ksfxrk gSA fyf[k,AQhYM cqd ¼{ks=&iqfLrdk½ dh D;k mi;ksfxrk gSA fyf[k,AQhYM cqd ¼{ks=&iqfLrdk½ dh D;k mi;ksfxrk gSA fyf[k,A

Write, What is utility of field book.

vFkok vFkok vFkok vFkok (OR)

x.Vj tjhc dk o.kZu dhft,Ax.Vj tjhc dk o.kZu dhft,Ax.Vj tjhc dk o.kZu dhft,Ax.Vj tjhc dk o.kZu dhft,A

Explain in detail Gunter’s chain.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& fefJr [ksrh ds mUu;u gsrq dksbZ rhu lq>ko nhft,AfefJr [ksrh ds mUu;u gsrq dksbZ rhu lq>ko nhft,AfefJr [ksrh ds mUu;u gsrq dksbZ rhu lq>ko nhft,AfefJr [ksrh ds mUu;u gsrq dksbZ rhu lq>ko nhft,A

Write any three suggestion for improvement of mixed farming.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& pus dk mdBk jksx D;k gS rFkk fdu dkj.kksa ls gksrk gS fyf[k,Apus dk mdBk jksx D;k gS rFkk fdu dkj.kksa ls gksrk gS fyf[k,Apus dk mdBk jksx D;k gS rFkk fdu dkj.kksa ls gksrk gS fyf[k,Apus dk mdBk jksx D;k gS rFkk fdu dkj.kksa ls gksrk gS fyf[k,A

What is wilt disease in Gram and Write it’s causes.

iz’u 11&iz’u 11&iz’u 11&iz’u 11& losZ{k.k esa iz;ksx dh tkus okyh tjhcksa dk uke crkb, ,oa izR;sd dh yEckbZlosZ{k.k esa iz;ksx dh tkus okyh tjhcksa dk uke crkb, ,oa izR;sd dh yEckbZlosZ{k.k esa iz;ksx dh tkus okyh tjhcksa dk uke crkb, ,oa izR;sd dh yEckbZlosZ{k.k esa iz;ksx dh tkus okyh tjhcksa dk uke crkb, ,oa izR;sd dh yEckbZ

fyf[k,Afyf[k,Afyf[k,Afyf[k,A

Enumerate various types of surveying chains and write their length.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& vyad`r ckxokuh ds {ks= dks c<+kus ds fy, dksbZ rhu lq>ko nhft,Avyad`r ckxokuh ds {ks= dks c<+kus ds fy, dksbZ rhu lq>ko nhft,Avyad`r ckxokuh ds {ks= dks c<+kus ds fy, dksbZ rhu lq>ko nhft,Avyad`r ckxokuh ds {ks= dks c<+kus ds fy, dksbZ rhu lq>ko nhft,A

Give three suggestion for increasing area of Ornamental Gardening.
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vFkok vFkok vFkok vFkok (OR)

gfj;kyh dk D;k egRo gSA fyf[k,Agfj;kyh dk D;k egRo gSA fyf[k,Agfj;kyh dk D;k egRo gSA fyf[k,Agfj;kyh dk D;k egRo gSA fyf[k,A

Write, What is importance of Lawn.

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

¼l½¼l½¼l½¼l½ iz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vadiz’u Øekad 13 ls 17 rd y?kqmRrjh; iz’u gSA izR;sd iz’u ij 4 vad

vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&75 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&75 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&75 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&75 ’kCn gS½

Instruction:

(iii) Question Nos. 13 to 17 are of short answer type question. Each question

carries 4 marks. Maximum word limit of answer 75 words.

iz’u 13&iz’u 13&iz’u 13&iz’u 13& [kjirokj fu;a=.k dh tSfod fof/k dks lfoLrkj fyf[k,A[kjirokj fu;a=.k dh tSfod fof/k dks lfoLrkj fyf[k,A[kjirokj fu;a=.k dh tSfod fof/k dks lfoLrkj fyf[k,A[kjirokj fu;a=.k dh tSfod fof/k dks lfoLrkj fyf[k,A

Explain in detail the method of biological control of weeds.

iz’u14&iz’u14&iz’u14&iz’u14& lwjteq[kh lwjteq[kh lwjteq[kh lwjteq[kh vFkokvFkokvFkokvFkok lQsn ewlyh dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,& lQsn ewlyh dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,& lQsn ewlyh dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,& lQsn ewlyh dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,&

¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy ¼2½ egRo¼2½ egRo¼2½ egRo¼2½ egRo

¼3½ [kkn ,oa moZjd¼3½ [kkn ,oa moZjd¼3½ [kkn ,oa moZjd¼3½ [kkn ,oa moZjd@gs-@gs-@gs-@gs- ¼4½ mit@gs-¼4½ mit@gs-¼4½ mit@gs-¼4½ mit@gs-

Describe the cultivation of sunflower OR Safed Moosli in the following

points-

(1) Botamical name and faimly (2) importance

(3) Manure and fertilizer/ha. (4) Yield/ha.

iz’u15&iz’u15&iz’u15&iz’u15& vyad`r ckxokuh D;k gS \ buds pkj egRo fyf[k,Avyad`r ckxokuh D;k gS \ buds pkj egRo fyf[k,Avyad`r ckxokuh D;k gS \ buds pkj egRo fyf[k,Avyad`r ckxokuh D;k gS \ buds pkj egRo fyf[k,A

What is Ornamental-Gardening ? Write its four importance.

iz’u16&iz’u16&iz’u16&iz’u16& lEidZ ,oa flLVsesfVd dhVuk’kh ls vki D;k le>rs gSa] mnkgj.k lfgrlEidZ ,oa flLVsesfVd dhVuk’kh ls vki D;k le>rs gSa] mnkgj.k lfgrlEidZ ,oa flLVsesfVd dhVuk’kh ls vki D;k le>rs gSa] mnkgj.k lfgrlEidZ ,oa flLVsesfVd dhVuk’kh ls vki D;k le>rs gSa] mnkgj.k lfgr

lfoLrkj fyf[k,AlfoLrkj fyf[k,AlfoLrkj fyf[k,AlfoLrkj fyf[k,A

Explain, what is contact and systematic insecticides and write it's

examples.

vFkok vFkok vFkok vFkok (OR)
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ikni jksx fu;a=.k ds izeq[k fl)kUr fyf[k,Aikni jksx fu;a=.k ds izeq[k fl)kUr fyf[k,Aikni jksx fu;a=.k ds izeq[k fl)kUr fyf[k,Aikni jksx fu;a=.k ds izeq[k fl)kUr fyf[k,A

Write main principles of plant disease control.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& fuEufyf[kr dks ifjHkkffuEufyf[kr dks ifjHkkffuEufyf[kr dks ifjHkkffuEufyf[kr dks ifjHkkf""""kr dhft,&kr dhft,&kr dhft,&kr dhft,&

¼1½ Cykafpax  ¼2½ izkslsflax¼1½ Cykafpax  ¼2½ izkslsflax¼1½ Cykafpax  ¼2½ izkslsflax¼1½ Cykafpax  ¼2½ izkslsflax  ¼3½ dsfuax  ¼n½ QkWfeax ¼3½ dsfuax  ¼n½ QkWfeax ¼3½ dsfuax  ¼n½ QkWfeax ¼3½ dsfuax  ¼n½ QkWfeax

Definition following-

(1) Blanching (2) Processing  (3) canning  (4) Foaming

vFkok vFkok vFkok vFkok (OR)

tsyh D;k gS] tsyh ds eq[; ?kVd dkSu&dkSu ls gSA fyf[k,tsyh D;k gS] tsyh ds eq[; ?kVd dkSu&dkSu ls gSA fyf[k,tsyh D;k gS] tsyh ds eq[; ?kVd dkSu&dkSu ls gSA fyf[k,tsyh D;k gS] tsyh ds eq[; ?kVd dkSu&dkSu ls gSA fyf[k,

What is Jelly and write main components of Jelly.

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&

¼n½¼n½¼n½¼n½ iz’u Øekad 18 ls 22 rd nh?kZmRrjh; iz’u gSA izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZmRrjh; iz’u gSA izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZmRrjh; iz’u gSA izR;sd iz’u ij 5 vadiz’u Øekad 18 ls 22 rd nh?kZmRrjh; iz’u gSA izR;sd iz’u ij 5 vad

vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn gS½vkcafVr gSA ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn gS½

Instruction:

(iv) Question Nos. 18 to 22 are of long answer type questions. Each question.

Carries 5 marks. Maximum word limit of answer-120 words.

iz’u 18&iz’u 18&iz’u 18&iz’u 18& Qly&pØ dks izHkkfor djus okys fdUgha ik¡p dkjd dks lfoLrkj fyf[k,AQly&pØ dks izHkkfor djus okys fdUgha ik¡p dkjd dks lfoLrkj fyf[k,AQly&pØ dks izHkkfor djus okys fdUgha ik¡p dkjd dks lfoLrkj fyf[k,AQly&pØ dks izHkkfor djus okys fdUgha ik¡p dkjd dks lfoLrkj fyf[k,A

Explain in detail  any five factors affecting crop rotation.

iz’u 19&iz’u 19&iz’u 19&iz’u 19& xUus dh isM+h D;k gS \ xUus dh isM+h ls vf/kd mit izkIr djus ds fy,xUus dh isM+h D;k gS \ xUus dh isM+h ls vf/kd mit izkIr djus ds fy,xUus dh isM+h D;k gS \ xUus dh isM+h ls vf/kd mit izkIr djus ds fy,xUus dh isM+h D;k gS \ xUus dh isM+h ls vf/kd mit izkIr djus ds fy,

vko’;d dvko’;d dvko’;d dvko’;d d""""kZ.k fØ;k,¡ fyf[k,AkZ.k fØ;k,¡ fyf[k,AkZ.k fØ;k,¡ fyf[k,AkZ.k fØ;k,¡ fyf[k,A

What is Ratooning in Sugarcane ? Write essential cultural operations

for getting more yeild from Sugarcane ratoon.

vFkok vFkok vFkok vFkok (OR)

xUus dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,&xUus dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,&xUus dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,&xUus dh [ksrh dk o.kZu fuEu fcUnqvksa esa dhft,&

¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy ¼2½ cht nj@gs-¼2½ cht nj@gs-¼2½ cht nj@gs-¼2½ cht nj@gs-
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¼3½ cksvkbZ dh fof/k¼3½ cksvkbZ dh fof/k¼3½ cksvkbZ dh fof/k¼3½ cksvkbZ dh fof/k ¼4½ fdLe ¼dksbZ nks½¼4½ fdLe ¼dksbZ nks½¼4½ fdLe ¼dksbZ nks½¼4½ fdLe ¼dksbZ nks½

¼5½ mit izfr gsDVs;j¼5½ mit izfr gsDVs;j¼5½ mit izfr gsDVs;j¼5½ mit izfr gsDVs;j

Describe the cultivation of Sugarcan in the following points-

(1) Botanical name and Family (2) Seed rate/ha.

(3) Methods of Sowing (4) Variety (any two)  (5) Yield/ha.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& d`fd`fd`fd`f""""k izlkj lsokvksa dk egRo ,oa d`fk izlkj lsokvksa dk egRo ,oa d`fk izlkj lsokvksa dk egRo ,oa d`fk izlkj lsokvksa dk egRo ,oa d`f""""k izlkj ds fl)kUr lfoLrkj fyf[k,Ak izlkj ds fl)kUr lfoLrkj fyf[k,Ak izlkj ds fl)kUr lfoLrkj fyf[k,Ak izlkj ds fl)kUr lfoLrkj fyf[k,A

Explain in detail Role of Agriculture extension Services and Principles

of Agriculture extension.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& drZu ,oa nkc dye esa varj lfoLrkj fyf[k,AdrZu ,oa nkc dye esa varj lfoLrkj fyf[k,AdrZu ,oa nkc dye esa varj lfoLrkj fyf[k,AdrZu ,oa nkc dye esa varj lfoLrkj fyf[k,A

Explain in detail difference between cutting and layering.

vFkok vFkok vFkok vFkok (OR)

ve:n dh [ksrh dk o.kZu fuEu ’khve:n dh [ksrh dk o.kZu fuEu ’khve:n dh [ksrh dk o.kZu fuEu ’khve:n dh [ksrh dk o.kZu fuEu ’kh""""kZdksa esa dhft,%&kZdksa esa dhft,%&kZdksa esa dhft,%&kZdksa esa dhft,%&

¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy¼1½ okuLifrd uke ,oa dqy ¼2½ mUur fdLe ¼dksbZ&pkj½¼2½ mUur fdLe ¼dksbZ&pkj½¼2½ mUur fdLe ¼dksbZ&pkj½¼2½ mUur fdLe ¼dksbZ&pkj½

¼3½ cgkjksa dk uke ,oa le;¼3½ cgkjksa dk uke ,oa le;¼3½ cgkjksa dk uke ,oa le;¼3½ cgkjksa dk uke ,oa le;

Describe the cultivation of Guava in the following heads-

(1) Botanical name and family (2) Improved varieties (any four)

(3) Name of flowering and their time.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& ve:n dh tsyh dSls rS;kj djsaxsA le>kb;sAve:n dh tsyh dSls rS;kj djsaxsA le>kb;sAve:n dh tsyh dSls rS;kj djsaxsA le>kb;sAve:n dh tsyh dSls rS;kj djsaxsA le>kb;sA

Explain, the prepration method of Guava Jelly.

vFkok vFkok vFkok vFkok (OR)

VekVj dspi cukus dh fof/k dk o.kZu dhft,AVekVj dspi cukus dh fof/k dk o.kZu dhft,AVekVj dspi cukus dh fof/k dk o.kZu dhft,AVekVj dspi cukus dh fof/k dk o.kZu dhft,A

Explain in detial method of Tomato Ketchup prepration.
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